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@Entity
class User {
@EmbeddedId

@AttributeOverride(name="firstName", column=@Column(name="fld firstname")
UserId id;

Integer age;

}

@Embeddable

class UserId implements Serializable {
String firsthName;
String lastName;




T_EMPLOYEE

T_EMPLOYEEDETAIL

P *F.ID NUMBER (19)
BIRTH_DATE  DATE
CELL_PHONE VARCHAR2 (255 BYTE)
FIRSTNAME  VARCHAR? (255 BYTE)
LASTNAME  VARCHAR? (255 BYTE)

P * F_EMPLOYEEID NUMBER (19)

CITY VARCHAR2 (255 BYTE)
COUNTRY VARCHAR?2 (255 BYTE)
STATE VARCHAR?2 (255 BYTE)
STREET VARCHAR?2 (255 BYTE)

& T_EMPLOYEE_PK (F_ID)

& T_EMPLOYEEDETAIL_PK (F_EMPLOYEEID)

q
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@Data

@NoArgsConstructor

@AllArgsConstructor

@Entity

@Table (name="EMPLOYEE")

public class Employee implements Serializable {

private static final long serialVersionUID = 1L;

@Id
@GeneratedValue (strategy = IDENTITY)
@Column (name = "EMPLOYEE ID", unique = true)

@hccess (AccessType . PROPERTY)
private Long employeeld;

@Column (name = "FIRST NAME")

private String firstname;

@Column (name = "LAST NAME")

private String lastname;

@Temporal (TemporalType . TIMESTAMP)
private Date date;

@0OneToOne (fetch = FetchType.LAZY, mappedBy = "employee", cascade = CascadeType.ALL)
ERccess (AccessType . PROPERTY)
private EmployeeDetail employeeDetail;
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@Data

@NoArgsConstructor

@allargsConstructor

@Entity

@Table (name = "EMPLOYEE DETAILS")

public class EmployeeDetail implements Serializable {

private static final long serialVersionUID = 1L;
@I1d
@GenericGenerator (name = "one-one",

strategy = "foreigm",

parameters = @Parameter(name = "property", value = "employee"))
@GeneratedValue (generator = "one-one")
@Column (name = "EMPLOYEE ID")
@Rccess (AccessType . PROPERTY)

private Long id;

@Column (name = "STREET")

private String street;

@Column (name = "CITY")

private String city;

@Column(name = "STATE")
private String state;

@Column (name = "COUNTRY")
private String country;

@0neToOne (fetch = FetchType.LAZY)
@PrimaryReyJoinColumn

Ghccess (AccessType . PROPERTY)
private Employee employee;
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<?xml version="1.0" encoding="UTF-8"2>

<!DOCTYPE hibernate-configuration PUBLIC "-//Hibernate/Hibernate Configuration DTD 3.0//EN"
"http://hibernate.sourceforge.net/hibernate-configuration-3.0.dtd">

<hibernate-configuration>

<session-factory>

<property name="hibernate.connection.driver class">com.mysql.jdbc.Driver</property>
<property name="hibernate.connection.url">jdbc:mysql://127.0.0.1:3306/0one_one</property>
<property name="hibernate.dialect">org.hibernate.dialect.MySQLDialect</property>

<property name="hibernate.connection.username">root</property>
<property name="hibernate.connection.password">pwd</property>
<property name="hibernate.connection.pool size">10</property>
<property name="hibernate.connection.isolation">2</property>
<property name="show sqgl">true</property>
<property name="hibernate.hbm2ddl.auto">create</property>
<!--Mapping-->
<mapping class="by.academy.it.pojos.Employee"/>
<mapping class="by.academy.it.pojos.EmployeeDetail"/>

</session-factory>

</hibernate-configuration>
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public static void main(String... args) throws Exception {

EmployeeDao employeeDao = new EmployeeDao();

Session session = employeeDao.getSession();

session.beginTransaction();

Employee e = new Employee(null, "Yuli", "Slabko", new Date(), null);

EmployeeDetail employeeDetail = new EmployeeDetail (null, "Mira", "Minsk", "", "Blr", null);
e.setEmployeeDetail (employeeDetail);

employeeDetail.setEmployee (e);

session.save (e);

session.getTransaction().commit();

Hibernate: insert into EMPLOYEE (date, FIRST_NAME, LAST NAME) wvalues (2, 2, ?)
Hibernate: insert into EMPLOYEE DETAILS (CITY, COUNIRY, STATE, STREET, EMPLOYEE ID) wvalues (2, 2, 2, 2, ?)

) R U
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public static void main(String... args) throws Exception {
EmployeeDaoc employeeDao = new EmployeeDao();
Session session = employeeDao.getSession();
session.beginTransaction();
Employee e = new Employee(null, "Yuli", "Slabko", new Date(), null);
EmployeeDetail employeeDetail = new EmployeeDetail (null, "Mira", "Minsk", "", "Blr", null);
e.setEmployeeDetail (employeeDetail);
employeeDetail.setEmployee (e);
gession.save(e);

session.getTransaction().commit();

@0neToCne (fetch = FetchType.LAZY, mappedBy = "employee", cascade = CascadeType.ALL)
@hccess (AccessType . PROPERTY)
private EmployeeDetail employeeDetail;

Hibernate: insert into EMPLOYEE (date, FIRST_NAME, LAST NAME) wvalues (2, 2, ?)
Hibernate: insert into EMPLOYEE DETAILS (CITY, COUNTIRY, STATE, STREET, EMPLOYEE ID) values (2, 2, 2, 2, ?)

) £ S

@0neTolne (fetch = FetchType.LAZY, mappedBy = "employee")
Bhccess (AccessType . PROPERTY)
private EmployeeDetail employeeDetail;

Hibernate: insert into EMPLOYEE (date, FIRST NAME, LAST NAME) wvalues (2, 2, ?)
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@CneTolne (fetch = FetchType.LAZY, mappedBy = "employee", |cascade = CascadeType.REMOVE|
EAccess (AccessType . PROPERTY)
private EmployeeDetail employeeDetail;

session.beginTransaction();
Employee e = (Employee) session.get (Employee.class, id);
session.delete(e);

session.getTransaction() .commit () ;

Hibernate: select employee0_.EMPLOYEE ID as EMPLOYEE1 0_0_, employee
Hibernate: select emploveede(_.EMPLOYEE ID as EMPLOYEEl 1 0_, employ
employeede(_.EMPLOYEE ID=?

Hibernate: delete from EMPLOYEE DETAILS where EMPLOYEE ID=?
Hibernate: delete from EMPLOYEE where EMPLOYEE ID=?

CneToCne (fetch = FetchIype.LAZY, mappedBy = "employee")
ELccess (AccessType. PROPERTY)
private EmployeeDetail employeeDetail;

session.beginTransaction();
Employee e = (Employee) session.get (Employee.class, id);
session.delete (e);

session.getTransaction() .commit();

Hibernate: select employeede0O_.EMPLOYEE ID as EMPLOYEEl 1 0 ,
employeede0_.EMPLOYEE ID=?

Hibernate: select employee0O_.EMPLOYEE ID as EMPLOYEE1 0 0_, er

Hibernate: delete from EMPLOYEE DETAILS where EMPLOYEE ID=?
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EMPLOYEE EMPLOYEEDETAIL

P *ID NUMBER (19) P * EMPLOYEEID NUMBER (19)
BIRTH_DATE DATE CITY VARCHAR? (255 BYTE)
CELL_PHONE VARCHAR? (255 BYTE) COUNTRY VARCHAR? (255 BYTE)
FIRSTNAME VARCHAR? (255 BYTE) STATE VARCHAR? (255 BYTE)
LASTNAME VARCHAR? (255 BYTE) STREET VARCHAR? (255 BYTE)

F__ DEPARTMENT_ID NUMBER (19) @ T_EMPLOYEEDETAIL_PK (EMPLOYEEID)

@ T_EMPLOYEE_PK (ID)

Y
|
!
!
!
!

v

DEPARTMENT
P * DEPARTMENTID_ID NUMBER (19)
NAME VARCHAR? (255 BYTE)

3= T_DEPARTMENT_PK (F_DEPARTMENTID)
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@Data

@NoArgsConstructor

@GEntity

@Table (name = "DEPARTMENT")

public class Department implements Serializable {
private static final long serialVersionUID = 1L;
@Id
@GeneratedValue (strategy = GenerationType.IDENTITY)
@Column (name = "DEPARTMENT ID", unique = true)
private Long departmentId;

@Column (name = "NAME")

private String departmentName;

@CneToMany (mappedBy = "department")
private Set<Employee> employees = new HashSet<>();

public Department (String name) {
this.departmentName = name;
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@Data

@NoArgsConstructor

@allArgsConstructor

@Entity

@Table (name="EMPLOYEE")

public class Employee implements Serializable {
private static final long serialVersionUID = 1L;

@Id
@GeneratedValue (strategy = IDENTITY)
@Column (name = "EMPLOYEE ID", unique = true)

@hccess (AccessType . PROPERTY)
private Long employeeld;

@Column (name = "FIRST NAME")

private String firstname;

@Column (name = "LAST NAME")
private String lastname;

@Temporal (TemporalType . TIMESTAMP)
private Date date;

@0OneToOne (mappedBy = "employee", cascade = CascadeType.ALL)
@Rccess (AccessType . PROPERTY)
private EmployeeDetail employeeDetail;

@ManyToOne (cascade = CascadeType.PERSIST)
@JoinColumn (name = "DEPARTMENT ID")
private Department department;
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@Entity
@SequenceGenerator (name = "PK", sequenceName = "t_department_seq")
public class Department implements Serializable |
private static final long serialVersionUID = 6L;
@1d
@Generatedvalue (strategy = GenerationType.SEQUENCE, generator = "PK")

private Long departmentId;

@BColumn

private String departmentName;

@oneToMany (mappedBy = "department")

private Set<Employee> employees;

@O0OneToMany anHOTaIX ONIPEACIISAIOT
MHOTO3HAYHYIO CBA3b C KOJJIEKIIUEN
CYIIHOCTEM.
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Session session = util.getSession();

session.beginTransaction();

Department department = new Department ("Sales");

Employee e = new Employee (null, "Tom", "Hanks", new Date(), null, department);
session.save (department) ;

session.save (e);

session.getTransaction().commit () ;

util.releaseSession();

Hibernate: insert into DEPARTMENT (NAME) values (?)
Hibernate: insert into EMPLOYEE (date, DEPARTMENT ID, FIRST NAME, LAST NAME) wvalues (2, 2, 2?2, ?)

3 -r
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@OneToMany (mappedBy = "department", cascade = {CascadeType.ALL})
private Set<Employee> employees = new HashSet<>(0);

Session session = util.getSession();

session.beginTransaction();

Department department = new Department ("QA");

Employee e = new Employee (null, "Tom", "Hanks", new Date(), null, department);
department.getEmployees () .add(e);

e.setDepartment (department) ;

session.save (department);

session.getTransaction().commit();

util.releaseSession();

Hibernate: insert intoc DEPARTMENT (NAME) wvalues (?)
Hibernate: insert into EMPLOYEE (date, DEPARTMENT ID, FIRST NAME, LAST NAME) wvalues (2, 2, 2?2, ?)
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@OneToMany (mappedBy = "department”", orphanRemoval=true)

private Set<Employee> employees = new HashSet<>(0);

private static void deleteCrphan(Long id) {
Session session = util.getSession();
session.beginTransaction();
Department department = (Department) session.get (Department.class, id);
Employee employee = null;
for (Employee e : department.getEmployees()) {
employee = e;
break;
}
department.getEmployees () . remove (employee) ;
session.saveOrUpdate (department);

session.getTransaction().commit () ;

Hibernate: select department(_.DEPARTMENT ID as DEPARTMEl1 0 _0_, department(_.NAME as NAME2
Hibernate: select employees(_.DEPARTMENT ID as DEPARTMES 0 0 , employees(0_.EMPLOYEE ID as [
FIRST NA3 1 1 , employeesO_.LAST NAME as LAST NAM4 1 1 , employeedel_ .EMPLOYEE ID as EMPI(
EMPLOYEE employees(0_ left outer join EMPLOYEE DETAILS employeedel on employeesO_.EMPLOYEL
Hibernate: delete from EMPLOYEE where EMPLOYEE ID=?
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@OneToMany (mappedBy = "department"”)
EFetch|FetchMode . SELECT)|

@BatchSize(size = 2)

private Set<Employee> employees = new HashSet<>(0):;

Session session = util.getSession():
session.beginTransaction():
Department department (Department) session.get(Department.class, departmentld);
Iterator<Employee> it department.getEmployees() .iterator():
for (;it.hasNext();) {
System.out.println(it.next());

}
session.getTransaction().commit();
ptil.releaseSession();

Hibernate: select departmentO .DEPARTMENT ID as DEPARTMEl1 O 0 , departmentO .NAME as NAME2 0 0 from I
Hibernate: select employeesO_ .DEPARTMENT ID as DEPARTMES O 2 , employeesO .EMPLOYEE ID as EMPLOYEEl 1
employees0 .FIRST NAME as FIRST NA3 1 1 , employeesO_ .LAST NAME as LAST NAM4 1 1 , employeedel .EMPLO}
STATE4 2 0 , employeedel .STREET as STREETS 2 0 from EMPLOYEE employveesO_ left outer join EMPLOYEE DE
where employeesO .DEPARTMENT ID=?

Employee{employeelId=7, firstname='Roma', lastname='Won'}

Employee{employeeld=6, firstname='Kim', lastname='Talk'}

Employee{employeeId=9, firstname='Roma',K lastname='Won'}

Employee{employeelId=4, firstname='Tom', lastname='Hanks'}

Employee{employeelId=8, firstname='Roma', lastname='Won'}
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@CneToMany (mappedBy = "department")
@Fetch(FetchMode . JOIN)
@BatchSize(size = 2)

private Set<Employee> employees = new HashSet<>(0);

Session session = util.getSession():
session.beginTransaction():
Department department (Department) session.get(Department.class, departmentld);
Iterator<Employee> it department.getEmployees() .iterator():
for (;it.hasNext();) {
System.out.println(it.next());

}
session.getTransaction().commit();
ptil.releaseSession();

Hibernate: select departmentO_ .DEPARTMENT ID as DEPARTME1l 0 O , departmentO_ .NAME as NAM
employeesl .date as date2 1 2 , employeesl .DEPARTMENT ID as DEPARTMES 1 2 , employee
CITY2 2 3 , employeede2 .COUNTRY as COUNTIRY3 2 3 , employeede2 .STATE as STATE4 2 3 ,

left outer join EMPLOYEE employeesl on departmentO_.DEPARTMENT ID=employeesl .DEPARTMEN

where departmentO_ .DEPARTMENT ID=?

Employee{employeelId=7, firstname='Roma', lastname='Won'}

Employee{employeeld=6, firstname='Kim', lastname='Talk'}

Employee{employeelId=9, firstname='Roma',K lastname='Won'}

Employee{employeelId=4, firstname='Tom', lastname='Hanks'}

Employee{employeelId=8, firstname='Roma',6K lastname='Won'}
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EMPLOYEE
P * F_EMPLOYEE_ID NUMBER (19) EMPLOYEE_MEETING
BIRTH_DATE DATE PF* F_EMPLOYEE_ID  NUMBER (19)
CELL_PHONE VARCHAR2 (255 BYTE) |¢——<lpr * £ MEETING 1D NUMBER (19)
ERSTNAME bdwboistor Cemiatle T EMPLOYEE_MEETING_PK (F_EMPLOYEE_ID, F_MEETING_ID
LASTNAME VARCHAR? (255 BYTE) il = i R =
F  F_DEPARTMENT ID  NUMBER (19) v

uhLEMELOlEE_EK_LLiMDI QYEE_ID)

4
v MEETING
CEEDRTRENT P * F_MEETING_ID NUMBER (19
P * F_DEPARTMENTID NUMBER (19) e b M (19)
F DEPARTMENTNAME  VARCHAR?2 (255 BYTE) ot VARCHAR? (255 BYTE)
@ T_DEPARTMENT_PK (F_DEPARTMENTID) 5 T MEETNG PR MEETING D)
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@Data @NoArgsConstructor @AllArgsConstructor

@Entity

@Table (name="EMPLOYEE")

public class Employee implements Serializable {
private static final long serialVersionUID = 1L;
@Id @GeneratedValue (strategy = IDENTITY)
@Column(name = "EMPLOYEE ID", unique = true)
private Long employeeIld;

@Column (name = "FIRST NAME")
private String firstname;
@Column(name = "LAST NAME")

private String lastname;
@Temporal (TemporalType . TIMESTAMP)
private Date date;

OneToOne (mappedBy = "employee", cascade = CascadeType.PERSIST)
private EmployeeDetail employeeDetail;

@ManyToOne
@JoinColumn (name = "DEPARTMENT ID")
private Department department;

@ManyToMany (cascade = CascadeType.ALL)

@JoinTable (name = "EMPLOYEE MEETING", joinColumns = {@JoinColumn(name = "EMPLOYEE ID")},
inverseJoinColumns = {@JoinColumn(name = "MEETING ID")}

)

private Set<Meeting> meetings = new HashSet<>(0);
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Many To Many

@Data

@NoArgsConstructor

@Entity

@Table (name = "MEETING")

public class Meeting implements Serializable {
private static final long serialVersionUID = 8L;

@Id

@GeneratedValue (strategy = GenerationType.IDENTITY)
Column(name = "MEETING ID")

private Long meetingId;

@Column (name = "SUBJECT")
private String subject;
Column (name = "DATE")

private Date startDate;

@ManyToMany (mappedBy = "meetings")
private Set<Employee> employees = new HashSet<Emplovee>();

public Meeting(String subject) {
this.subject = subject;
this.startDate = new Date();
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<?xml version="1.0" encoding="UTF-8"2>

<!DOCTYPE hibernate-configuration PUBLIC "-//Hibernate/Hibernate Configuration DTD 3.0//3@ ‘@‘
"http://hibernate.sourceforge.net/hibernate-configuration-3.0.dtd">

<hibernate-configuration>

<session-factory>

<property name="hibernate.comnection.driver class">com.mysql.jdbc.Driver</property>
<property name="hibernate.connection.url">jdbc:mysql://127.0.0.1:3306/many many</property>
<property name="hibernate.dialect">org.hibernate.dialect.MySQLDialect</property>
<property name="hibernate.connection.username">root</property>
<property name="hibernate.connection.password">yuli</property>
<property name="hibernate.connection.pool size">10</property>
<property name="hibernate.connection.isolation">2</property>
<property name="show sqgl">true</property>
<property name="hibernate.hbm2ddl.auto">validate</property>

<! ——Mappipng——>

<mapping class="by.academy.it.pojos.Employee"/>
<mapping class="by.academy.it.pojos.EmployeeDetail"/>
<mapping class="by.academy.it.pojos.Department"/>
<mapping class="by.academy.it.pojos.Meeting"/>

</session-factory>
</hibernate-configuration>
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Session session = util.getSession();

session.beginTransaction();

Employee employee = (Employee) session.load(Employee.class, id);
Meeting meeting = new Meeting("Hibernate relation grooming");
meeting.getEmployees () .add (employee) ;
employee.getMeetings () .add (meeting);

session.saveOrUpdate (employee) ;

session.getTransaction() .commit();

Hibernate: select employee(_.EMPLOYEE ID as EMPLOYEE1l 1 0 , employee0_.date as date2_1_0_, emplc
DEPARTME1 0_1 , departmentl .NAME as NAME2 0_1 , employeede2 .EMPLOYEE ID as EMPLOYEEl 2 2 , er
employee0_ left outer join DEPARTMENT departmentl_ on employee(_.DEPARTMENT ID=departmentl_.DEl

Hibernate: select employeesO_.DEPARTMENT ID as DEPARTMES 0 0_, employees(0_.EMPLOYEE ID as EMPLOY
FIRST NA3 1 1 , employeesO_.LAST NAME as LAST NAM4 1 1 , employeedel .EMPLOYEE ID as EMPLOYEEL_
EMPLOYEE employees(0_ left outer join EMPLOYEE DETAILS employeedel_ on employees(0_.EMPLOYEE ID=¢

Hibernate: select meetingsO_.EMPLOYEE ID as EMPLOYEEl1 1 0_, meetings(0_.MEETING_ID as MEETING 2 _:
MEETING meetingl_ on meetings(0_.MEETING ID=meetingl_.MEETING ID where meetings0_.EMPLOYEE ID=?

Hibernate: insert into MEETING (DATE, SUBJECT) values (2, ?)

Hibernate: insert into EMPLOYEE MEETING (EMPLOYEE ID, MEETING ID) values (2, ?)
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